00

Ersatzteile fur 933-0]

REF

1| 90401
2| 99591
3| 90301
4| 90201
5] 90801°
6| 96330
7 | 90701
8

90601

04
06
07

Deckel

Spule m. Metallknoj
Deckel

Fadendse

Feder
Fadeneinfiihrung/Rot
Korper-Unterteil
Metallscheibe




932

universal

Adapterbolzen fir 931 Ersatzteile fur 931 + 932
Rer| P =Pm  ©F | ner|  em
9 07630 | M7X1.00L-M 1 | 90401 Deckel
g fososo | MBX125L-M 2 [ 90501 Spule
9 {98130 MBX 1.25 LF 3190301 | Kérper-Unterteil
| 9 | 97730 M10 X 1.00 L-F 4190201 | Fadendse
9 | 98230 M10 X 1.25 L-M 5 | 90801 ruckfeder
9 (98330 | MI0X 125 LF - 696330 | Fadeneinfihrung
| 9 |97930 M10 X 1.50 L-M 7190701 | Xérper-Unterteil
9 | 96940 M10 X 1.50 L-F 8 |go601 | Metallscheibe
9 | 98430 Mi2 X 1.50 L-F
9 |97830 | M12X1.75 LF

Ersatzteile fir 933

Profi-Fadenkopf m. Metall-Knopfl universal

nEF

1| 90401 Deckel

2| 99591 Spule m. Metallknopf
3| 90301 Peckel

4 | 90201 Fadendse

5| 90801 Fedet

6| 96330 Fadeneinfiihrung/Rohr
71 90701 Kérper-Unterteil

8 | 90601 | Metallscheibe




